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For the GPY S, 15, 45, 135, ...
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For Ehe GP: 40,8 VL, 0.32,...

Fid 6‘Le som *to l'n-(rn:'('«]) Soo

o =40, r7 i = L
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See =60
Erample 3 ' | l
The 3rd termofa GP s IR amd Ehe 87 term
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Mebhod | = bril and error
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7" = 16,87 < 25660
7% = 117644 » 25eco
. n-1 = &
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exceed )00/ 0060
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T the GP: 3 6, 12, 24, -..

how Mm«3 terms are r‘c.bui.re/ for the Sum b erceed | 000,000]

a=3, r=z Le€ humber 0€ terms be n

= S‘ > ‘/ODO 000
> " s = ‘\(rh"') > I)Doo)ooo
V‘."I

= 3(2"-1) S 1,000, 000
2 -l

= 20\ - > ‘/ 000, 000

= 2" > 333,3233.3 4/

27 > 333,334.3
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Mebhod | - Erin| 4l error Method 2 ~ LSing losk'rﬂ\hf

2% = 4040 2" > 3,33
¢ = 65 36 = 103 2"y lo& 233,134.3
z’: = 262,144 | hlog2 7 log 213143
! -
2 | = C24,288 - Ny log 333,334.3
> 2" v 3,334 3 loq 2

= n % 1%.3
so |4 terms r%o\'(cw(

= n =19

So 14 eUhs Te.k@ul‘fed




